3km /INEEZF(4FEELT)

BT |Fon—h—-V|K4 EERTR |WTE (AR Time
1 M4\ 1L = EHE |BEW (|[fEHEL 00:13'59”
2 426|15HE X4 ERE |53 SAC 00:14'11”
3 420\ %t Ende EFR Atk |dE#FHAKIEIFTT 4FE 00:14'19”
4 4237 HBLY EHE [Eh |[FET/NER 00:14'41”
5 MR BLTE ILFZIR | ERLIm |ETY 227 00:15'44”
6 430|E+E FE =EHER (LEh  |[lE 00:16'05"
7 419|184 & BEHE |BEW |[feHELZFD 00:16'17”
8 409|1&E HEA =EHE |ty EE [ErED 4F 00:16'56"
9 435/ K BE ERE |BEAW |BEE—/IERLAE 00:17'03”
10 404|885 K EF =EHER [(BAT |[BRE/NER 3E 00:17'45”

3km NEELF(5-65F5)

BT |Fon—=h—-F| K4 EERTR |BHE (AR Time
1 519|NifE ¥ EHER [&XT  |[MEHNER 00:13'02”
2 509|H 4T R IR (BfERT (88D 00:13'36”
3 510|)IR b BEHE |[lET  [EU/DhER 00:14'30”
4 532| AH B&FE EHER [BFET |[BREZ/N6FE 00:14'36”
5 523|{E AR PR EHER [BAT | KENERSE 00:15'05”
6 511|155t 182 BEFE |[dLEm [[I8F/DNER 6F 00:15'14”
7 514|iff%k R BEHE |[LEh [ERDER 00:15'20”
8 515|Fix 1&A ERE (BAW |BR2/M 00:15'22”
9 517|1k#E R =R |[SAH 00:15'23"
10 520|i= Il Sk IR [KiRT [KIRTIZALER/ 00:15'28”

3km HEFEELZF

IBL | Fon—h—F| K4 EERTR WL (AR Time
1 628|J11% RE BEHE |BAW (BEMILIRPFEK 24 |00:1208”7
2 614|/NFE FZ7E BER |RiFET (E#MEERERIFEIETZ 85(00:12'43”7
3 601|843 K &HE EHER [ERET|XREAE—PFEK IF 00:12'43”
4 626|1kik HiE ERE (BAWM |BEWIERDER F 00:12'48”
5 630|FIER B EHE [BAT |BATILIERFERIF 00:13'26”
6 605|1kik EH/ =EWER |tyEE |trEF 2F 00:13'32”
7 617|1kE BT BER (ERE |RiPFER 00:13'34”
8 610|%8FH [Hx BER |fRE™Mm |IEXTETC 00:13'41”
9 629|=HHE Tk EHE |BAT |BAWIEHSER25E [00:13477
10 618|Ee W& RER |[ERE |RiEHER 00:14'09”




